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! Kenji Suzuki,

! Niigata University & Central Research Institute of Electric Power Industry
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program search_peak
implicit none

integer:: i,j,k,1l,m,n,w,h,cnt,np,px(200),py(200),sm,nspot

real*8:: x(0:2000,0:2000),xx(0:2000,0:2000)=0.0

integer:: bi(0:2000,0:2000)=0

real*8:: dx(0:2000,0:2000)=0.0,dI(0:2000,0:2000)=0.0,xf,yf,xyf,yxf
real*8:: s,threshold

w=1499;h=1199 ! EH{RY A X w=0:1499 h=0:1199
mn=5 E—27fiHtr Xy oY1 XL0ME T

n=(m-1)/2 ! Z5IE

threshold=20.0 ! Y¥— 7 #HRIM#E

open(unit=11,file=’starl.txt’,status=’0ld’)
do j=0,h
read(11,*) (x(i,j),i=0,w)
end do
close(11)

127X Y b A T 3x3
sm=1 EELY A Z+/-1
do j=sm,h-sm
do i=sm,w-sm
s=0.0; cnt=0
do 1=j-sm, j+sm
do k=i-sm,it+sm
s = s + x(k,1); cnt = cnt+1
end do
end do
xx(i,j)=s/cnt
end do
end do
T R ] ey p—
open(unit=12,file=’smooth.txt’,status=’unknown’)
do j=0,h
write(12,120) (xx(i,j),i=0,w)
end do
close(12)

do j=0+n,h-n
do i=0+n,w-n
xf = (xx(i+n,j) + xx(i-n,j) -2.0*xx(i,j))/float(n)**2
yf = (xx(i,j+n) + xx(i,j-n) -2.0*xx(i,j))/float(n)**2
xyf = (xx(i+n,j+n) + xx(i-n,j-n) -2.0*xx(i,j))/float(n)**2
yxf= (xx(i+n,j-n) + xx(i-n,j+n) -2.0*xx(i,j))/float(n)**2
dx(i,j) = -xf-yf-xyf-yxf
end do
end do

127X Y MY A ATHEIEE 3x3
sm=2 LT A X+/-2

do j=sm,h-sm
do i=sm,w-sm



s=0.0; cnt=0

do 1=j-sm, j+sm
do k=i-sm,it+sm

s = s + dx(k,1); cnt = cnt+1

end do

end do

dI(i,j)=s/cnt

end do
end do

open(unit=12,file=’dI2.txt’,status=’unknown’)
do j=0,h
write(12,120) (dI(i,j),i=0,w)
end do
close(12)

do j=m,h-m
do i=m,w-m
if (dI(i,j) >17.0 ) then
bi(i,j)=1
else
bi(i,j)=0
end if
end do
end do

open(unit=12,file=’bi.txt’,status=’"unknown’)
do j=0,h
write(12,121) (bi(i,j),i=0,w)
end do
close(12)
! Labelling
call labelling(w,h,nspot)

call centroid(w,h,nspot)

120 format(1542£f8.1)
121 format (1542I3)
end program search_peak
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subroutine labelling(w,h,m) 'H{{fDMEw, mE h

implicit nome

integer::w,h,i,j,bi(0:2000,0:2000) ,L(0:2000,0:2000)=0

integer:: 1k(1500) ! 1look up table

integer:: label,k,cnt,sn,nos,m,n,ix,iy

integer:: x(1500,300),y(1500,300) ,1b1(1500)

open(unit=11,file="bi.txt’,status=’0ld’)
do j=0,h
read(11,*) (bi(i,j),i=0,w)
end do
close(11)

label=0
do j=1,h-1
do i=1,w-1
if(bi(i,j) == 1) then !'---—-—-----—-—-

if ((L(i,j-1) == 0) .and. (L(i-1,j)==0)) then
label = label + 1
L(i,j)=1label ! labelling



1lk(label)=label ! look up table
end if

if ((L(i,j-1) .ne. 0).and.(L(i-1,j) == 0)) then
L(i,j)=L(i,j-1)
end if

if ((L(i-1,j) .ne. 0).and.(L(i,j-1) == 0)) then
L(i,j)=L(i-1,3)
end if

if ((L(i-1,j) .ne. 0).and.(L(i,j-1) .ne. 0)) then
if(L(i-1,j) > L(i,j-1)) then
L(i,j)=L(i,j-1)
else
L(i,j)=L(i-1,j)
end if
end if

end if ! - -

end do
end do

open(unit=12,file=’tmp.txt’,status=’unknown’)
do j=0,h
write(12,*) (L(i,j),i=0,w)
end do
close(12)

cnt=0 lent X, RADZD?
do j=1,h-1
do i=1,w-1
if (L(i,j).ne.0) then
if ( (L(i,j-1).ne.0) .and. (L(i,j-1) < L(i,j)) ) then
cnt=cnt+1
1k(L(i,3))=L(i,j-1)
L(i,§)=L(i,j-1)
end if
if ( (L(i+1,j).ne.0) .and. (L(i+1,j) < L(i,j)) ) then
cnt=cnt+1
1k(L(i,3))=L(i+1,3)
L(i,j)=L(i+1,7)
end if
end if
end do
end do

do i=1,label
print *,i,1k(i)
end do

do j=1,h-1
do i=1,w-1
k=L(i,j)
if (k .ne. 0) then
L(i,j)=1k(k)
end if
'print *,L(i,j)
end do
end do



open(unit=12,file=’tmp.txt’,status=’unknown’)
do j=0,h
write(12,*) (L(i,j),i=0,w)
end do
close(12)

! output spot data ---- -—= -
open (unit=14,file="tmp.txt", status="unknown")

m=0
do k=1,label

sn=1k (k)
cnt=0;

do j=1,h-1
do i=1,w-1
if (L(i,j)==sn) then
cnt=cnt+1
end if
end do
end do

if (cnt .ne. 0) then
write(14,*) cnt

m=m+1
end if
do j=1,h-1
do i=1,w-1

if(L(i,j)==sn) then
write(14,*) 1i,j
L(i,j)=0 'ZEHA LRV IS Ik
end if
end do
end do

end do
close(14)
print *,’Number of spots=’,m

open (unit=11,file="tmp.txt", status="old")
do k=1,m

read(11,*) 1bl(k)

do j=1,1bl(k)

read(11,%) x(k,j),y(k,j)

end do
end do
close(11)

! main spot data
open (unit=12,file="spot.txt", status="unknown")

write(12,*) m
do k=1,m
write(12,%) 1bl(k)
do j=1,1bl(k)
write(12,%*) x(k,j),y(k,j)
end do
end do



close(12)

! output labelling
! initialize Label L
do j=0,h
do i=0,w
L(i,j)=0
end do
end do

do i=1,m

n=1b1(i)

do j=1,n
ix= x(i,3) ; iy= y({d,3j)
L(ix,iy)=i

end do

end do

open (unit=12,file="L.txt", status="unknown")
do j=0,h
write(12,*) (L(i,j),i=0,w)
end do
close(12)

121 format (1542I4)
end subroutine labelling

T ST ) e —
subroutine centroid(w,h,n)
implicit nome

integer:: i,j,k,m,n,w,h,x,y
real*8::d41(0:2000,0:2000),L(0:2000,0:2000),s,sx,sy,gx(1500),gy(1500)
real*8:: imax

| BHAOBELDFE

open(unit=11,file=’L.txt’,status=’0ld’)

do j=0,h

read(11,*) (L(i,j),i=0,w)
end do
close(11)

open(unit=11,file="dI2.txt’,status=’0ld’)

do j=0,h
read(11,*) (dI(i,j),i=0,w)
end do
do k=1,n
sx=0.d0; sy=0.d0;s=0.d0
do j=1,h-1
do i=1,w-1

if (L(i,j) == k) then
sx=sx+dI(i,j)*float(i)
sy=sy+dI(i,j)*float(j)
s=s+dI(i,j)
end if
end do
end do
gx(k)=sx/s; gy(k)=sy/s
print *,k,gx(k),gy(k)
end do



R ESTCIOY: Fa R NV 1) ——

open(unit=12,file=’spot_list.txt’,status=’unknown’)
write(12,*) n
do i=1,n
write(12,’(14,2X,F8.2,2X,F8.2)’) i,gx(i),gy(i)
end do
close(12)

open(unit=11,file=’smooth.txt’,status=’0ld’)
imax=0.0
do j=0,h
read(11,*) (dI(i,j),i=0,w)
end do
close(11)

imax=maxval (dI)

do k=1,n
x=int (gx(k)); y=int(gy(k))

do i=-5,-1
if (dI(i+x,y) > 0) then
dI(i+x,y)= imax !/Ef
end if

end do

do i=1,5
if (dI(i+x,y) < w) then
dI(i+x,y)= imax !ff
end if

end do

do j=-5,-1
if (dI(x,j+y) > 0) then
dI(x,j+y)= imax ! _Eff
end if

end do

do j=1,5
if (dI(x,j+y) < h) then
dI(x,j+y)= imax R
end if

end do
end do

open(unit=12,file=’smooth.txt’,status=’0ld’)
do j=0,h
write(12,*) (dI(i,j),i=0,w)
end do
close(12)
end subroutine centroid



